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WEST BENGAL STATE UNIVERSITY
B.A. General Part-II Examination, 2019

PHILOSOPHY
PAPER: PHIG-III
Time Allotted: 3 Hours Full Marks: 100
The figures in the margin indicate full marks. eNfe AT SZ AT 2N e P |
Candidates should answer in their.own words A e G IR TG NI W2
and adhere ito the word limit as practicable. Ber IR

All symbols are of usual significance.

GROUP-A
o=

Answer Question Nos. 1 and 2 and any fwo from the rest within 300 words
each
> €} M 032 T e o Iy itE -t 4P aves Ted eifefb ooo
#THA G e

i. Answer any five questions from ithe following:(within fwo sentences each) 2x5=10
efeiRe - ool eti Tea we: (&fSb 75 = )

(a) Identify the Sadhya, Paksa and Hetu of the following inference:
frsfeifRe s i, - ¢ @y Hieee s
The golden mountain is high because it is a mountain.
IR el T, e aft «ife)

(b) Distinguish between Samavyapti and Asamavyapti.
TR @ SR g il el wam

(c) Give suitable example of Purvavatand $esavat anumana.
54328 (TR SR TwiZae wiS |

(d) What do you mean by Paksa?
2 TS [ QI 2

(e) What ismeant by Paksadharmata jfiana?
*fo] Tl Fe0S 6 QI3 2

(f) What is Anumiti?
SIS ICE 30 9

(g) What do you mean by Tarka?
O 3108 & QI 2
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(h) What is the first avayava of a Paficavayavi Nyaya?
ABITF IR @ ST & 9

(i) What is the meaning of the word ‘syat’ in Jaina theory of syadvada?
TGS FWAICR 1L =ewa o 3 2

(j) What do you mean by sahacara relation?
FZBIY T S 1 @A 9 ’

2 Write short notes on any #wo of the following: (within 100 words each) 5x2=10

fRefeRe -ttt #18 Racm Beia s fve B et (&S Soo =twa sway)
(a) “Pot is non-eternal because it is produced.” -— State the Paksadharmata,
Vyaéptijfiana and Paramarsajfidna of this inference.

“Bf} wfey, (ATRY Ot Berm TW1” — @R SR srwefol wiw, Wi @ sEnet
@ — BrEd I

(b) Definition of vyapti and its classification.
iR o7 @ ifesa et

(c) Jaina Saptabhangi Naya.
TETTIS HESR! 77|

(d) How vyapti is known according to Nyaya Philosophy?
1w o I airzd Teir

3. Explain with suitable examples Kevalanvayi, Kevalavyatireki and 5+5+5
Anvayavyatireki anumana.

WIS TEHIE (I, @RISR @ SRIIGES T I |

4. Critically explain Jaina Syadvada. 15
TEAIATS A RG-S SICAD |

5. What is Paramaréa according to Nyaya school? Why do the Naiyayikas admit 5+10
Paramarsa as the karana of anumiti?

@9 -

6. Distinguish between Svarthanumiti and Pararthanumiti. In this connection explaiﬁ 8+7
Paficavayavi Nyaya with the help of a suitable example.

TR © ~rdififon etvew @R T @R @R G TRICER FARICY AR T
G FERN :
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GROUP-B
femi-2
Answer Question Nos. 7 and 8 and any fwo from the rest
QAR @ bR 2 AR SR C3-CHIT KT elvew Twa we

7. Answer any five questions from the following: 2x5=10
e -t +isfs eves Tad wes

(a) Only citizens can vote. Give the logical form of this sentence.
@ AR (ol WS Pim| — «R AT FeRerrre e we)
(b) Give the obverse of the following proposition:
fosfere 2owiba Red st
Some men are not happy.
RgarE @ =
(c) Express in Boolean notation and draw Venn diagram:
A IS 1 IR GR (SAGY 2P SN
Nothing is both round and square.
@I ARG G AP 4R IR 2 A
(d) What are the names of valid moods of syllogism in second figure?
I oS TR e e 8 ¢
(e) Show the forms of Mill’s method of Agreement.
fitera wafl s1mfex S (re |
(f) Symbolize the following:
Rl aSiele st
P is the necessary condition of g.
P T -7 SR
(g) If p be false, determine the truth-value of (p > g).
% p R TSR (p > ¢)-97 Forges fAdfad e
(h) Use truth-table to define the logical connective *.’
T AT .’ @ RIS I & TS I I |
(i) What is tautological statement form?
T3 TR 00 [ Q@I 9
(j) Give an example of contradictory statement form.

7o N AFPIET G0 Twizad wa |

8. Write short notes on any #we of the following: 5x2=10
oo @-@ie 4f6 Raeea Ttz riEre Ot et
(a) Boolean interpretation of categorical propositions
e 3507 AT O
(b) Material obversion
g1 RIew

(c) Fallacy of illicit Minor and Major (with examples)
WY A @ WY A (R (TRIAPTR)
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(d) Rules of conversion.

GRS fIwRE |

9. Test the Validity of the following sylloglsm or syllogistic forms by means of 5x3 =15
Venn diagram (any three):

ot AR kRS Wi A i SRRl el Rew @i (&-! foTib)
(a) AOO—3
(b) OAO—4
(c) No Republicans are Democrats; so:some Democrats are wealthy men, since some
wealthy men are not Republicans.

erEeTEl R Wy, Yok, Ry el 4, T By 6N ewred 7

(d) Some scientists are philosophers, since some mathematicians are philosophers
and all mathematicians are scientists.

g Rl wedferes, ey g siftees wpdfers a3k e sifffoe 2 el

10.  'Test the validity of the following with the help of Truth Table: (any three) 5x3=15

HePARNT A (34t o1 SR (R-GAC FE1D)

ORCATIETCRE)
p-q/..pvq

®) po(q-1)
(qver)yo~p/ .. ~p

©eveo(-9
~@-q/..~(Pva

(d) If terrorists’ demand are met, then lawlessness will be rewarded. If terrorists’

demands are not met, then innocent hostages will be murdered. So either
lawlessness will be rewarded or innocent hostages will be murdered.

TR TEPRIRTE WA G (e T, OILH (RIS s 91 | 3 FAPRIRIcT 7l
A T T, @ RN Seige ITEA 4 21 TOAR, T N AT A, WA
TRty St el 3 == |

11. Use truth-table to determine whether the following statement forms are 5x3=15
tautologous, self-contradictory or contingent: :

'W@Wﬁwmﬁwﬁmﬁmﬂmmwm%ﬂmﬁﬁms
@ po[~p2(qv~9]
® @ 9-@E>2~9
© p=lp- @Vl

12.  Explain and examine Mill’s Method of Differ.ence. 10+5
Re-a3 IS =S R0 6 Rom
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